Recognizing Redox Reactions
Classify the reactions below.

Clicker Answers:

1. It is not a redox reaction. It is an acid-base reaction.

2. It is neither a redox or an acid-base reaction.

3. It is a redox reaction. The first reactant listed is the oxidizing agent.

4. It is a redox reaction. The first reactant listed is the reducing agent.

Examples:

1. 
4 Al(s) +  3 O2(g) ( 2 Al2O3(s)

2. 
CuO(s) + H2(g) ( Cu(s) + H2O(()
3.
CaCO3(s) ( CaO(s) + CO2(g)

4.   MnO4-(aq) + 5 Fe2+(aq) + 8 H+(aq) (  Mn2+(aq) + 4 H2O(() + 5 Fe3+(aq)

5. 
2 H2O2(aq) ( 2 H2O(()  +  O2(g)
6.
CaCO3(s) + 2 H+(aq) ( CO2(g) + H2O(() + Ca2+(aq)


TWO OTHER SPECIAL REACTION TYPES
1. Combination: Two things react and stay together

2 H2(g) + O2(g) ( 2 H2O(()

SO3(g) + H2O(() ( H2SO4(aq)

2. Decomposition: A single compound breaks apart.

MgCO3(s) ( MgO(s) + CO2(g)


2 H2O2(aq) ( 2 H2O(() + O2(g)
